
 

1 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 
 

 
 
 
 
 

 
 

 

Simple Interest, Compound 
Interest – Work Sheet 

 
 

Simple Interest  7 OLD 3 2.5 

 7 NEW 3 2.4, 2.5 

Compound Interest  8 OLD 3 1.4, 1.5, 1.6 

 8 NEW 2 1.3 
 

Introduction:  
 

I. Principal: The money borrowed or lent out for a certain period is called the 
principal or the sum.  

 
II. Interest : Extra money paid for using other's money is called interest. 

 
III. Simple Interest (S.I) : If the interest on a sum borrowed for a certain period 

is reckoned uniformly, then it is called simple interest. 

Let Principal = P, Rate = R% per annum (p.a) and Time = T years  

Then, (i) S.I = 
100

P R T  
 
 

 

 (ii) P = 
100 . 100 . 100 .

;
S I S I S I

R and T
R T P T P R

       
      

       
 

 
Compound Interest : Sometimes it so happens that the borrower and the lender 
agree to fix up a certain unit of time, say yearly or half-yearly or quarterly to 
settle the previous account.  
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In such cases, the amount after first unit of time becomes the principal for the 
second unit, the amount after second unit becomes the principal for the third unit 
and so on.  
 
After specified period, the difference between the amount and the money 
borrowed is called the compound Interest (abbreviated as C.I) for that period.  
 
Let principal = P, Rate = R% per annum, Time = n years.  
 
I. When interest is compounded Annually:  

 Amount = P 1
100

n
R 

 
 

 

 
II.  When Interest is compounded Half – yearly:  

 Amount = P
 

2

/ 2
1

100

n

R 
 

 
 

 
III. When interest is compounded Quarterly:  

 Amount = P 
 

4

/ 4
1

100

n

R 
 

 
 

 

IV. When interest is compounded Annually but time is in fraction, say 
2

3
5

 years.  

 Amount = P
3

2

51 1
100 100

R
R

 
  

    
   

 

 

 
V. When rates are different for different years, say R1%, R2%, R3% for 1st, 2nd         
      and 3rd year  respectively.  

 Then, Amount = 1 2 31 1 1
100 100 100

R R R
P
    
      

    
 

 
VI. Present worth of ì  x due n years hence is given by:  

  Present Worth = 

1
100

n

x

R 
 

 
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Difference between S.I and C.I:  
 

 There is no difference in S.I and C.I for the first conversion period.  

 For 2 years, the difference in S.I and C.I is  

  C.I – S.I = P 
2

100

r 
 
 

 

 For 3 years, the difference in S.I and C.I is C.I – S.I is 

  C.I – S.I = P 
2

3
100 100

r r   
   

   
 

 If a sum of money doubles in n years, then it will become m times in (m-1) × 
n years, if simple interest is applied. 
 

 If a sum of money becomes m times in n years, then it will become ma times 
in an years if compound interest is applied.  
 

 Difference between the compound interest and the simple interest on a sum 

for 4 years at r% p.a is Pi2 ( 6 + 4i + i2) where i = 
100

r
 

Example  
 

1. Find the simple interest on 25,000 at 8% per annum for 3 years?  
25,000 ,f;F 8% tl;b tPjk; 3 Mz;LfSf;Fj; jdptl;b fhz;f.  
solution:  
  Here, the Principal (P) = ì 25,000 
  Rate of interest (r)  = 8% per annum  
   Time (n)   = 3 years  

  simple Interest (I)  = 
100

Pnr
 

      = 
25000 3 8

6000
100

 
  

Hence, simple Interest (I) is ì 6,000. 

  
2. Kumaravel has paid simple interest on a certain sum for 2 years at 10% per 

annum is ₹ 750. Find the sum.  
 FkuNty; xU Fwpg;gpl;lj; njhiff;F 10% tl;b tPjk; 2 Mz;Lfs; fopj;J ì 
 750 I jdptl;bahfr; nrYj;jpdhy;> mriyf; fhz;f.  
 Solution:  
  Given the rate of interest (r) = 10% per annum 
      Time (n) = 2 years 
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  We know that Simple Interest (I) = 
100

Pnr
 

      750 = 
2 10

100

P 
 

  Therefore, Principal (P) = 
750 100

2 10




= 3750 

Therefore, Kumaravel has borrowed a sum of ₹ 3,750 

 

3. A principal becomes ₹ 10,050 at the rate of 10% in 5 years. Find the 
principal. 
Xh; mry; Mz;Lf;F 10% tl;b tPjj;jpy; 5 Mz;Lfspy; ì 10>050 Mf 
cah;e;jJ vdpy;> mriyf; fhz;f.  

 Solution:  

  A = ₹ 10,050 
  n = 5 years 
  r = 10% 
  P = ? 
 For calculating principal with the given data, we proceed as follows.  We 
 know that, 

   I = 
100

pnr
 

   A = P + I  

   A = P + 
100

pnr
 

   A = P 1
100

nr 
 

 
 

 Therefore, 10, 050 = P
10 5

1
100

 
 

 
 

    = P 
50

1
100

 
 

 
 

    = P
150

100

 
 
   

 

    = 
3

2

 
 
 

 

 There fore, P = 10,050 × 
3

2
 = 3350  

Hence, Principal = ì 3,350 
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4. Find the simple interest and the amount due on ì 6,750 for 219 days at 10 % 
per annum. 

 ì 6,750 f;f 219 ehl;fSf;F 10% tl;b tPjk; jdptl;biaAk;> 
 njhifiaAk; fhz;f.  
 Solution: 
   P = ì 6,750  
   n = 219 days  

    = 
219

365
 year = 

3

5
year  

    r = 10% 

    I = 
100

pnr
 

   I = 
6750 3 10

5 100

 


 

   = 405 
   I = ì 405  
   A = P + I  
    = 6750 + 405 = 7,155 
  A = ì 7,155  

Interest = ì 405, Amount = ì 7,155 

   
5.  The population of a town is increasing at the rate of 6% p.a. It was 238765 in 

the year 2018. Find the population in the year 2016 and 2020.  
xU efuj;jpd; kf;fs; njhif Mz;Lf;F 6% mjpfhpf;fpwJ. 2018 Mk; 
Mz;L kf;fs;njhif 238765 Mf ,Ue;jJ vdpy;> 2016 kw;Wk; 2020 Mk; 
Mz;Lfspy; kf;fs;njhifiaf; fhz;f.  

 Solution:  
   Let the population in 2016 be ‘P’. 

   Then, A = P 1
100

n
r 

 
 

 

    = 238765 = P 
2 2

6 53
1

100 50
P

   
    

   
 

    = P = 238765 
50 50

53 53
   

    P = 212500  
 Let the population in 2020 be 'A'  

  Then, A = P 1
100

n
r 

 
 

 

   A = 238765 
2

6
1

100

 
 

 
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   = 238765 
53 53

50 50
   

   = 95.506 × 53 × 53 
   = 268276 

The population in the year 2016 is 212500 and that in the year 2020 is 
268276. 

 
6. Find the C.I for the data given below:  

(i) Principal = ₹4000, r = 5% p.a, n = 2 years, interest compounded annually.  

(ii) Principal = ₹5000, r = 4% p.a, n = 1
1

2
 years, interest compounded half-

yearly.  

(iii) Principal = ₹10000, r = 8% p.a, n = 2
3

4
 years, interest compounded 

yearly.  

(iv) Principal = ₹30000, r = 7% for I year, r = 8% for II year, compounded 
annually. 
fPNo nfhLf;fg;gl;l tptuq;fSf;Ff; $l;L tl;biaf; fhz;f.  
 
i. mry; = ì 4000, Mz;L tl;b tPjk; r = 5%, n = 2 Mz;Lfs;> Mz;Lf;nfhU 

Kiw tl;b fzf;fplg;gLfpwJ. 

ii. mry; = 5000, Mz;L tl;b tPjk; r = 4%, n = 
1

1
2
 Mz;Lfs;. 

miuahz;Lf;F xU Kiw tl;b fzf;fplg;gLfpwJ.  

iii. mry; = 10000, Mz;L tl;b tPjk; r = 8%, n = 2
3

4
 Mz;Lfs;> fhyhz;Lf;F 

xU Kiw tl;b fzf;fplg;gLfpwJ.  
iv. mry; = 30000 Kjyhk; Mz;L tl;b tPjk;> r = 7% ,uz;lhk; Mz;L tl;b 

tPjk; r = 8% Mz;Lf;F xU Kiw tl;bf; fzf;fplg;gLfpwJ.  
 
Solution:  

 i. Amount, A = P 1
100

n
r 

 
 

 

  = 4000  
2

5
1

100

 
 

 
 

  = 4000 
21 21

20 20
   

  A = ì 4410    
 C.I = A – P = 4410 – 4000 = ì 410  

C.I = ì 410 
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ii. Amount, A = P 

3
2 2

24 51 51 51
1 5000 1 5000

100 200 50 50 50

n
r



   
         

   
 

   = 51 × 10.2 × 10.2 
   = ì 5306.04 
 C.I = A – P = ì  5306.04 – ì  5000 
    

C.I. = ì  306.04 

 

iii. A = P 1 1
100 100

a
b

r
r c

 
  

   
   

 

 = 10000 
2

3
8

8 41 1
100 100

 
  

   
   

 

 

  = 10000 
2

27

25

 
 
 

 
53

50

 
 
 

 

  = 10000 
27 27 53

25 25 50
    

  A = 12363.84 
 C.I = 1236.84 – 10,000  

C.I = ì 
2363.84 

 

iv. A = P 1 1
100 100

a b   
    

   
 

 = 30000 
7 8

1 1
100 100

   
    

   
 

 = 30000 × 
107 108

100 100
   

 = ì 34668     

C.I = A – I = 34668 – 30000 = ì 4668 

 
7.  Find the difference in C.I and S.I for  

(i) P = ₹5000, r = 4% p.a, n = 2 years.  

(ii) P = ₹8000, r = 5% p.a, n = 3 years. 
jdptl;bf;Fk; $l;Ltl;bf;Fk; ,ilNaAs;s tpj;jpahrj;ijf; fhz;f.  
i. P = ₹5000,  Mz;L tl;b tPjk; r = 4% p.a, n = 2  Mz;Lfs;  

ii. P = ₹8000, Mz;L tl;b tPjk; r = 5% p.a, n = 3  Mz;Lfs;  
solution:  

 i. C.I – S.I = P 
2

4 4
1 5000

100 100 100

r 
     

 
 ì 8 
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 ii. C.I – S.I = 
2

1 2
100 100

r r
P
   
    

   
 

   = 8000 
5 5 5

3
100 100 100

 
    

   

     = 20 × 
61

20  
C.I – S.I = ì 
61 

 
8. The bacteria in a culture grows by 5% in the first hour, decreases by 8% in 

the second hour and again increases by 10% in the third hour. Find the 
count of the bacteria at the end of 3 hours, if its initial count was 10000.  
xU tif ghf;Bhpah> KjyhtJ xU kzp Neuj;jpy; 5% tsh;r;rpAk;> 
,uz;lhtJ kzp Neuj;jpy; 8% tsh;r;rpf; Fd;wpAk;> %d;whtJ kzp Neuj;jpy; 
10% tsh;r;rpAk; milfpwJ. Kjypy; mjd; vz;zpf;if 10000 Mf ,Ue;jJ 
vdpy;> %d;W kzp Neuj;jpw;Fg; gpwF mjd; vz;zpf;ifiaf; fhz;f.  
Solution:  
  Bacteria at the end of 3 hours 

 A = P 1 1 1
100 100 100

a b c    
      

    
 ('-' because 'decrease')  

 = 10000 
5 8 10

1 1 1
100 100 100

   
     

   
 

 = 10000 
105 92 110

100 100 100
    

A = ì 10626 

 
9.  Find the compound interest on ì 1000 at the rate of 10% per annum for 18 

months when interest is compounded half-yearly. 
 miu Mz;Lf;F xU Kiw tl;b mrYld; Nrh;f;fg;gl;lhy; ì 1000 f;F Mz;L 
 tl;b tPjk; 10% tPjg;gb> 18 khjq;fSf;Ff; $l;L tl;b fhzTk;.  
 Solution 
 Here, P = ì 1000, r = 10% per annum 

 and n = 18 months = 
18

12
 years  = 

3

2
 years = 

1
1

2
years  

  Amount after 18 months = 
2

1
1

2 100

n

r
P
  
   

  
 

   = 1000 

3
2

21 10
1

2 100
P



  
   

  
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   = 1000 
3

10
1

200

 
 

 
 

   = 1000 
3

21

20

 
 
 

 

   = 1000 
21 21 21

20 20 20
    

   = ì 1157.625 
   = ì 1157.63 
   C.I = A – P  
   = 1157.63 – 1000 

C.I = ì 157.63 

 

10.  Find the compound interest on ì 20,000 at 15% per annum for 2 
1

3
 years. 

ì 20,000 f;F 15% Mz;L tl;b tPjj;jpw;F 
1

2
3

 Mz;LfSf;Ff; $l;L 

tl;biaf; fhz;f.  
solution:  

  Here, P = ì 20,000, r = 15% p.a and n = 2 
1

3
 years.  

 Amount after 
1

2
3

 years = A = 
2

1
1 1

100 3 100

r r
P

    
     

      

   
 = 20000 

2
15 1 15

1 1
100 3 100

    
     

    
 

    = 20000 
2

3 1
1 1

100 20

   
    

   
 

    = 20000 
2

23 21

20 20

   
   
   

 

    = 20000 
23 23 21

20 20 20
    

     = ì 27,772.50 
    C.I = A – P  
    = 27,772.50 – 20,000  

C.I = ì 7,772.50 
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5 Mark 
 

1. Aravind borrowed a sum of ₹ 8,000 from Akash at 7% per annum. Find the 
Simple interest to be paid at the end of two years. 

mutpe;j; vd;gth; ₹ 8000 I> Mfh~; vd;gthplkpUe;J Mz;Lf;F 7% jdptl;b 
tPjk; fldhfg; ngw;whh;. ,uz;L Mz;Lfspd; Kbtpy; mutpe;j; nrYj;j 
Ntz;ba jdptl;bia fhz;f.  
 
 

2. If a principal is getting doubled after 4 years, then calculate the rate of 
interest.  
Xh; mryhdJ 4 Mz;Lfspy; ,uz;L klq;fhfpwJ vdpy;> tl;b tPjj;ijf; 
fhz;f.  
 

3. Sangeetha borrowed ì 8,000 from Alex for 2 years at 12½% per annum. What 
interest did Sangeetha pay to Alex if the interest is compounded annually? 

rq;fPjh ₹ 8000 I mnyf;]plk; 12½% $l;L tl;b tPjj;jpy; 2 Mz;LfSf;Ff; 
fld; thq;fpdhh;. rq;fPjh mnyf;]pw;Fj; ju Ntz;ba tl;b vt;tsT?  
 

4.  Find the difference between simple interest and compound interest on ₹ 
6,400 for 2 years at 6 ¼% p. a. compounded annually. 

₹ 6400 f;F 6¼% Mz;L tl;b tPjk; 2 Mz;Lfspy; fpilf;Fk; $l;L 
tl;bf;Fk; jdp tl;bf;Fk; cs;s tpj;jpahrk; fhz;f.  

 
7.5 Marks  
 

1. Find the compound interest on ₹24,000 compounded half - yearly for 1½ 
years at the rate of 10% per annum. 

miuahz;bw;F xU Kiw tl;b $l;Lk; Kiwapy; ₹24,000 f;F 
Mz;nlhd;Wf;F 10% tl;b tPjk; 1½ Mz;Lfspy; fpilf;Fk; $l;L tl;b 
vt;tsT?  
 

2. Find the compound interest on ₹3200 at 2.5%p.a for 2 years, compounded 
annually. 

₹3200 ,f;F 2.5% Mz;L tl;bapy;> Mz;Lf;nfhU Kiw tl;bf; 
fzf;fplg;gLk; Kiwapy; 2 Mz;LfSf;F> fpilf;Fk; $l;L tl;biaf; 
fhz;f.  
 

3. Magesh invested ₹5000 at 12%p.a for one year. If the interest is compounded 
half yearly, find the amount he gets at the end of the year. 
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kNf~; vd;gth; ₹5000 I Mz;Lf;F 12% tl;b tPjj;jpy; Xh; Mz;Lf;F 
KjyPL nra;jhh;. miuahz;Lf;nfhU Kiw tl;bf; fzf;fplg;gl;lhy;> mth; 
ngWk; njhifiaf; fhz;f.  
 

4. A sum of ₹ 48,000 was lent out at simple interest and at the end of 2 years 

and 3 months the total amount was ₹ 55,560. Find the rate of interest per 
year. 

fldhf toq;fg;gl;l mry; ₹ 48,000 f;F 2 Mz;Lfs; 3 khjf; fhyj;jpw;Fg; 

gpd; jdptl;b %yk; ngwg;gl;l nkhj;jj; njhif ₹ 55,560 Mf ,Ue;jJ 
vdpy;> tl;b tpjj;ijf; fhz;f.  
 

10 Marks  
 

1. In how much time will the simple interest on ₹ 3,000 at the rate of 8% per 

annum be the same as simple interest on ₹ 4,000 at 12% per annum for 4 
years? 
ì 3,000 mrYf;F Mz;Lf;F 8% vd toq;fg;gLk; jdptl;bahdJ ì 4,000 
mrYf;F Mz;Lf;F 12% vd 4 Mz;LfSf;F toq;fg;gLk; jdptl;bf;F 
epfuhFk; fhyk; vd;d?  
 

2. In simple interest, a sum of money amounts to ₹ 6,200 in 2 years and ₹ 6,800 
in 3 years. Find the principal and rate of interest. 
xU njhif xU Fwpg;gpl;l jdptl;b tPjj;jpy; 2 Mz;Lfspy; ì 6,200 vdTk;. 
3 Mz;Lfspy; ì 6,800 vdTk; cah;fpwJ vdpy; me;jj; njhifiaAk;> tl;b 
tPjj;ijAk; fhz;f.  
 

3. Find the difference between C.I and S.I on ₹5000 for 1 year at 2%p.a, if the 
interest is compounded half yearly. 
ì 5000 f;F 2% Mz;L tl;bapy;> miuahz;Lf;nfhU Kiw tl;bf; 
fzf;fplg;gl;lhy; Xh; Mz;Lf;Ff; fpilf;Fk; jdptl;bf;Fk; $l;Ltl;bf;Fk; 
,ilNaAs;s tpj;jpahrj;ijf; fhz;f.  
 

4. Find the C.I on ₹15000 for 3 years if the rates of interest are 15%, 20% and 
25% for I, II and III years respectively.   
I, II kw;Wk; III Mz;LfSf;fhd tl;b tPjq;fs; KiwNa 15%, 20% kw;Wk; 
25% vdpy;> ì 15000 f;F 3 Mz;LfSf;F fpilf;Fk; $l;L tl;biaf; 
fhz;f.  
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15 Marks 

1. In how many years will ₹3375 become ₹4096 at 13
1

3
 % p.a where interest is 

compounded half-yearly? 

13
1

3
 %  Mz;L tl;bapy;> miuahz;Lf;nfhU Kiw tl;bf; fzf;fplg;gl;lhy; 

vj;jid Mz;Lfspy;> ì 3375 MdJ ì 4096 Mf khWk;?  
 

2.  The simple interest on a certain principal for 3 years at 10% p.a is ₹ 300. 
Find the compound interest accrued in 3 years. 
Xh; mrYf;F 10% Mz;L tl;bapy;> 3 Mz;LfSf;F fpilf;Fk; jdptl;b ì  
300 vdpy;> mjw;Ff; fpilf;Fk; $l;Ltl;biaf; fhz;f.  
 

3. Find the difference in the compound interest on ₹ 62500 for 
1

1
2

 years at 

8%p.a compounded annually and when compounded half-yearly. 
8% Mz;L tl;b tPjj;jpy; tl;bahdJ Mz;Lf;nfhU KiwAk;> 

miuahz;Lf;nfhU KiwAk; fzf;fplg;gl;lhy;> ì 62500 f;F 
1

1
2
Mz;LfSf;F 

fpilf;Fk; $l;L tl;bfspd; tpj;jpahrj;ijf; fhz;f.  
 

 
4.  Sujatha borrows ì 12,500 at 12% per annum for 3 years at simple interest 

and Radhika borrows the same amount for the same period at 10% per 
annum compounded annually. Who pays more interest and by how much? 
R[h 12>500 I Mz;nlhd;Wf;Fj; jdp tl;b tPjk; 12% tPjk; 3 Mz;Lfspy; 
nrYj;j fld; thq;fpdhh;. uhjpfh> mNj njhifia mNj fhyj;jpw;F 
Mz;nlhd;Wf;F 10% $l;L tl;b tPjk; fld; thq;fpdhh;. mjpf tl;b 
nrYj;Jgth; ahh;? vt;tsT?  


